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11. Compare the suitability D.C. series motor, D.C.

shunt motor and 1-¢A.C. series motor for traction

duty.
Y 8

YT B1d b fou Sodlo Al Alex, Srodflo
3¢ HIeY Ud Ul doll Todlo AU HIeR &)
SUYFIAT DI FAT B |

OR (312141)

Write notes on:
(1) Current collection system.

(i1) Mechanism of train movement

31 W fewoft fora—
(i) 9RT GITED dgia
(ii) YeEY At @1 ugfa

*kk

0T6020 20603

2019(0dd) o1d Syhabus

Time : 3Hrs. Sem. VI - E
Elect. Trac.

Full Marks : 80
Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.
Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & aft ufg ueal & IR <, uAS U & 9H 435 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & it ufg 9ol @ SR <, TAS UeT &1 A9 83 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP YT & 9] 3 BT SR UP &) oiE (AR HH H)

BT a1fey, 3=gem 4 Wiid -2l ol 9ad 2 |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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9. Explain speed time curve for main line service and

derive the expression.

b2 i vl el

Where the symbols have their usual meanings.

H& A3 Hal 8q dId—a¥9d 9 &l 9
Ud Avid

H-p1- 20

UTed &Y, gl 9l God g el gorid 2

OR (3121an)

What are the desirable requirements of a braking
system ? Explain with diagram, how regenerative

braking is employed in D.C. series motor?

dfeT ugfa & fay ars-a smawasan @
2? o3 @ g aren &) & v9 g oA
dfBT Sodflo AR e ¥ ygaa @ et 2?2

0T6020

(i)

(iii)

(iif)

(iv)

3 20603

ed @ faudla, ¢fell 99 9 feaa)
Se’d gl Bl 8-

(31) Y FATIHE DY

@) =1 9% BT

(@) RRITY st ar @t

() sEfdT gaaa &

Long distance railways use which of the
following?

(a) 25KV three phase A.C.

(b) 25KV two phase A.C.

(c) 25KV single phase A.C.

(d) 200V D.C.

@l gdfarar Yed f=fafaa o 4
fpadr STINT HRar 2—

(31) 25 fdodice f@HdT Todlo

(@) 25 fHodlee fg@aT Todlo

(|) 25 fhodiee Ul Hell Todlo
(%) 200 dlee Sodlo

For single phase A.C. supply of track
electrification, low frequency is desirable
because of the following advantages:

(a) It increase A.C. motor power factor
(b) It increase A.C. motor efficiency

(c) It improves commutation properties of

A.C. motors.

(d) All of the above

P.T.O
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GROUPC

Answer all Five Questions.

Il uig g & SR o

7.

8x5=40

Discuss relative advantages and disadvantages of
steam, electric and diesel-electric system of
traction. 8

$Yvr & qrv, faggd v Soa—faga ugfoar
@ HANUfd® o9 gd B &1 quia &Y |

OR (3121a1)

A schedule speed of 60 kmph is required between
two stops 2 km apart. Find the maximum speed
over the run if the stop is of 20 second duration.
The value of acceleration and retardation are

2.4 kmphps and 3.2 kmphps respectively. Assume
simplified trapezoidal speed time curve.

2fFHotflo @1 A W 3@Red < GdEcT B
9 A arad 6ofworio yftrerer & | uRare™
31 JAfrHaw ardd 9a], IfS 389 20 Adb-s

0T6020

(vi)

(vii)

(vii)

(viii)

5 20603

el A9 @ foy Are—a9g 9% A )
BIdl 2—

(31) waxur DIl

@) dfed wra

(|) SIRET BT

(%) gaaurfa &rad

In kando system of track electrification:

(a) Single phase a.c. is converted into d.c.

(b) Single phase a.c. is converted into three
phase a.c.

(c) Three phase a.c. is converted into d.c.

(d) None of these

(31) TP BT Yodlo TRT Slodlo A

(_Q') TUdcl el Qo‘x‘:ﬁo COREC TSI Qoﬁo q
(A) et Todflo &1 Stotflo H

(]) 3 4 @13 wEl

Coefficient of adhesion is the ratio of
tractive effort to slip the wheels and....
(a) Accelerating weight

(b) Adhesive weight

(c) Bead weight

(d) None of thee

P.T.O
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fodl fagga deHifed & fusE ¥R vd o
AR &I AT X |

OR(3721dT)

Why control equipment is required for traction motor?
Explain it.

HYYT Hiex & v fFRIF0T SudRoT @) azaddr
I 2? SHB ATAT BN |

Why is D.C. system preferred for urban and

suburban services? 4

I8 Uq SuTred) A9l & forv Sodfle ugfa
N st gushl Wil 87

OR (3121a1)

Describe the factors affecting energy consumption
in locomotion.

ST d SHoll Wud & YHATd] DRI Bl
qofq &Y |

0T6020

(x)

(xi)

(xi)

(xii)

7 20603

100 < olidiHaifed T el foaer
fausTa e 25% @, WR ERed @,
g o feadar Ragra yvma SO~
HYIT?

(31) 25KN

@) 250KN

(H) 2500KN

(&) 25000KN

Quadrilateral speed time curve is the close
approximation for:

(a) Main line service

(b) Suburban service

(¢) Urban service

(d) Urban and suburban service

AH TSR ATd—a7I 9% Frdead
g feas forg srar 82

(31) 4= drsA dar

(d) Su & Aar

(|) wrEd |ar

(3) el vd Suzed darg

Specific energy consumption is least in.......
........... service.

(a) Urban

(b) Suburban

(¢) Main line

(d) None of these

P.T.O



O°'Ld

= "OAT}OWOD0] JLIIJ[D
ue JO JY31oM [B)0} PUB JYSIOM JAISAYpe urefdxyq

| 2 Iklke kIR @ ER| 1@ Ll beRokK
ke 220k 213 MR bd 221k Uk 12BXY]

“10j0W JUNYs “D)°( pue J0joul SILIAS
D' 03 parpdde 3urd3nyd ‘wresSerp ynm urejdxyg

(IlprER)IO

¢ Pl (ibhie BYY
WRIb L3k Mok klz D2 lakkb] RIb &
a2l Infh Unke ool o RRlle}alh 1G]

4 [1ojowr uonoeI
SOLIOS "0°p © JO paads Jurjjonuod 10y pardope st
poyiow SuIuAeIM P[AIJ ‘SIOULISWNIIID JBYM JIPU()

i2 Iblin IRD| PX2k GRlie kP &
R|®h olod) IR® Rk AR| & lbh L3R Mk

(SOOIAIDS quIfuIeW
10} paxxdyaid st wdysAs o-e aseyd 913urs Ayp

(lpkI)AO

t

£090¢ €l 0209L0

10309[[09 103udssAIN (P)
1030977109 ydei3ojueq (9)
103991109 A9[101L, (q)
10199[]00 mog (®)

Pa[ed STHHO JO SSaujjns pue
SUOT}IPUOD PUIM [[& JOpUN Spaads JUQIQJJIP

1€ Pasn 9q Ued YOIYM UOI}OJ[[0D JUALIND O],

2 bl

1 A DRhp) 13Y) b LB kR (2)

g 1Rlin

2 bRjgap) B BUaR KR 16RE (B)
g 1

Rl 83D 1 Eklin olpolp 3k (b)
2 Ibln IR®)

LislRR PRhR) L Meple SRS (k)

—J-'_l.h.l{E

® Lplb SARRZY ¢ 220k olpolp

POSISAI SI JULIND PIaLy JO uonduIL( (p)
A1ddns oy} woiy pa3oauuodsIp st pray sif (9)
J0jeI2Ud3 ") ( ®© St syIom 1] (q)

P102UU0D PISIDAI ST dInjewre sy (&)
:J0jow ")’ (J ® JO Funyeiq oneisooyy uung

Bl B P peE (2)
p3p ek (B)
Balhe (k)

pae (k)

—g k2

0209L.O 8

(A1X)

(1m1x)

((2159)

(%)

£090¢



20603 12 0T6020

xx) Yermel & Rrgya arer fdv wvar 2-
(31) we<H 9T WX
(9) wavor <X WX
(|) 99 ¥ WX
(%) Swida aHl W

GROUPB

Answer all Five Questions.

Il ufg gl & SR o

2.

4x5=20

State the merits and demerits of electric traction with
reference to electric power crisis in India.

4
ARd ¥ faga wfed & a9 & "ed A faga
SN S A9 Ud I DI fod |

0T6020

9 20603

(xiv) ©IRT HYTed ol |l arg Rerfa g aflo

(xv)

(xv)

(xvi)

Qi[o_go B! HSIAT D 3T ﬁ'&l*_“f

(31 a9 GuED

(@) grell uEs

(A) T<IUTS AUTES
(]) TU=~R FUTEDH

The operating voltage for D.C. traction is.....
(a) 600V

(b) 1500V

(c) 3000V

(d) 25KV

Slodlo HYU BT HRIGR dlceol.........
T 21

(31) 600V

@) 1500V

(&) 3000V

(%) 25KV

The span length between supports in electric

traction is determined by:

(a) Permissible tension in the wire and speed
of train

(b) Maximum wind pressure

(c) Weight of wire per unit length

(d) All of the above

P.T.O



O'Ld

aA0qe 3y Jo [TV (P)

de1 uonepreldy (9)

91eI UONBIJAIIY (q)

paads 1sa1) (B)

:uodn spuadaop uren e Jo paads onpayosg

Y g} R b belhe (2)

ah lele Pbe (1)

2h PRl P (b)

M [kl bh BRI (k)

-2 pB

bhjlted 22l lafe fr (PLLRY p3lahe

JA0Qe 9y} Jo Auy (p)

KTuo sayoeo)) (9)

ATuo 9An0wod07 (q)

SUJBOI puB dAJOWO0I0T (B)

:UO pI[[eISul

oIk SI0JOW UOIORI) oY) ‘surel} ueqingns uj

Ut Ble B b bbRhe (»)
Leplb @Al l3pRE ()
@b @Kk ()

gl Blblk] (Ie)

—8 1DI2 bk

(xx)

(x1%)

(x1%)

APh 1P kel Db b lape bRp] (AY)

£090¢ I

020910

dA0qe y} Jo Auy (p)
Sunyeiq onewnaud-010917 (9)

SunjeIq [eorueyOdN (q)
Supyeiq wnnoeA ()

:ST U0TjoRI) LI Ul pasn sunyelq Jo adAy oy,

lb kbl Le@lb bd ladbd (»)

1o RIAP=Ie bIA3D (R)

1o RIb LRE (b)

lo R 1@ klp ¢ [bI20 (k)

—2 P12 Ebb) Rk DRl I |PlRY

uonepIe)al 3unyelq pue UoneIddddV (P)
sdojs jo uonean( (9)

owr} Suruuny (q)

sdois uoomiaq douelsi(g (e)

:Jo Judpuadopur st uren} Jo paads a8erdAe Ay |,

s Dbhe (2)
IMB Mk @ Blbtld 53 (b MD (R)
RIB pib> ki kbRl (b)

RIB Plb 1@
|81 1D bIbD kel kb k MD (k)
—@ Plo 1P DIk Bkl L
& Blp & RIBIE 2 & lnpe DRR

0209L.O or

(1mAx)

(114%)

(11ax)

(1a%)

£090¢



	1: 20 - 1
	2: 2-19
	3: 18-3
	4: 4-17
	5: 16-5
	6: 6-15
	7: 14-7
	8: 8-13
	9: 12-9
	10: 10-11

